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9. Give the preorder traversal sequence of

A1

A2 A3

A4 A5

AB

a A1, A2, A3, A4 Al1A5,A2A6 A4, oA3, A5, A6
s Al, A2, A4, A6 ,A1A3,A2A6 A4, oA5, A6, A3

10. What is the result of FIB(7) based on
definition

FIB(N) = N, if N=0 or N=1

FIB(N) = FIB(N-2) + FIB(N-1), if N >=2
8 2 13 o 3 21 o4 34 o

11. C

a (x = = Yy) X y

@ X =y yassign X

@ function return data type void

@  %f i nt

12. P

I nt * P; P = malloc(sizeof (int)) o
a int 2 into *3 (*jinot) (into*)

13. mai n() {

int i1, x[3]1[3]={9, 8, 7, 6, 5, 4, 3, 2,
for (i =0; i < 4 i = 1 +2) printf (" %d ",
}

a 5 2 2 5 1o 3 5 3 o 4 9 7 o

14. I nt x=10, y=0;

i f(x>=0)

i f(x==0) y=1;

el se y=-1;

printf (" %d",y);



15. ?

da a+x = xX;a= a+r3 ¢ = a%wbr; z = zby,;

16.1n | EEE 802.22, _ provi deemcwies s t
the wireless medium for associated stat.i
d access points 2 base stations

@ coordination f4andcattiao nsset s o
17.1f there ar e s2t000r ema diens at d ibndamy mt hmeieg ht h
of the tree 1is

7 2 8 o3 9 o4 greatoer than 1C
18. At the Cyclic Redameacknery, Che dhkat( GRi&ans
data unit is damaged.

d a string of alternaz2zangofhgenaondr 8mai nde
@ a string of Os 4 a string of 1s
19. The sequence to tpreeosdeavereseal wi sh_ _
al eft sub-tree, right sub-tree, the node
2l eft sub-tree, the node, right sub-tree
st he node, |l eft sub-tree, right sub-tree
gright sub-tree, left sub-tree, the node
20. The solution of thel e da@mnremiz(e Fed)atld ol

S
a O(n) 2 O(nl ogsn)OD 2 o4 Ofn
21. The hol ds the address ocfuttehde. next

da status regitprogram couanter
@ condition regiBeaseruction register
22. Which of the foheoWCh/igl Pagpreaot & oaldl! lkiser a

framing?

a data |l irkphysicalnet woor4k appliocati on
23. Assigning port numbers to pro@m e eand
with which port is a part of the _ I
da physical2 data I[sionktwor4« transopor:t
24. 1 f a Turi ng noancshiisntes porfo d rhamfsotlrluocwiinogn § :0 L
(1,0,12,2,R) -(1,12,0,2,R) -(2,0,0,2,R) -(2,Db
following is a halting configuration?
a b 1 1 b b b (current state = 2, s\
Fol b 1 1 b b b (current state = 1, s\
3 b 1 0 b b b (current state = 1, s\
o b 1 0 b b b (current state = 2, sy



25. Suppose the current state in w@ariMeamti ng r

symbol is 0, and that (1,0,1, 2, Rsa(me, 0, O,
collection of instructions. Then the mac
da would proceed as nor mal
@ has a conflict
@ would fix the problem and continue
¢ would eliminate one of the instructions
10 50 5

1. Please describe the four compuhationspro
i n detail. (10 )
2 . C/ C++

10
3.Build a minimum cost spanningat raee iTmdy
for the following graph. What is the tim

4. Pl ease correct the following C program
char str[80];

printf(“Please input your name”) ;
scanf (*“ %c”, &str);

printf(“your name is %s”, str),;

5. Write a procedure for insertinge@ node
10



95

4 5 20

1a = (cos18°sin18°),b = (cos138°,sin138°),c = (cos258°,sin 258°),

atb+c=? A l,ﬁ B ﬁ,l C (L0) D (00)
2" 2 22
) lirg f(x2+1x3+5x4+/\ +1x”*1jdx:? Al e 2c3p
et T 27 T3 n 4 4 4

) f@)=vy2+42+/x f'(4) =2( AX-( Bgﬂ;( c?%( D1)

) f(“—xz_ﬂﬂ f'(-)=2( A)2( Bl C) 0 D)
X+
) % : 8 C 9
; A 7 B D
a3fk+1) +3yk+1k +Kk?
80
V\/]-:{[Xlxz X3X4]€R1X4|X1_X3_X4:X1+X2—2X3—X4:0}
WZ:{[Xlxz %3 X4]€R1X4|X1_X2:X2_X3:Xs_x4=0}
1 81 2
o A (1=1234)
- 3 6 5 6 i - ™
4 5 8 7
Ay + Aol + Dadg + Aoy + Do + Ay = ( ) s
5 -6 -6
A=|-1 4 2 (minimal polynomisal )
3 -6 -4

10



4. A=R e aeb=a+b-3 a at=( 5 )

5. non- Homogeneous | inear eque
10

2 X X 3x 1

X X 2X -2
4 X HX X3 -3
X s 5 X3
6. Find a Jordan canonical form and a Jordan
25 0 0 O]
02 0 0 O
foriB=0 -1 0 -1
00 0 -1 0
00 0 0 -1
(a@a) Jordan candfhocBl form

(ba) Jordan basis forB
(cPhind P, sd=PBPt hat

7. Prove by inducti o4f-bri sotahemuwi seltehaf 15 for

number s n. 10

8. LARtbe a square matriilxi sPanveigatvaihEre of

is an eigenval ueAof the matri x

9. (finite state Machine)
M {B,o, v, w} .SS}{ S Set of internal stat
I {00, 01,10, 11} (i nput al phabe
o {0, 1} (output al phabet f or m)

(next state fuhsSiwn) v sx(output functi

w10



v w
00 01 10 11 00 01 10 11
SS S S 0 1 1 0
SS S S 1 0 0 1

on,0 10,0

0,

&t 00

IO

start 00,1

10. Draw all the non-isomorphic rootledd tree w
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